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Note: This question paper consists of two sections A and B.
Section - A 10%x3=30
L Short Answer Type Questions.
(i) Answer ANY TEN questions.

(ii) Each question carries 3 marks.

S5x+1

1. Resolve m into partial fractions.

x> +1 ) ) '
—(xz Txtl) into partial fractions.

2. Resolve
3. Find the equation of the circle for which (1, 2), (4, 5) are the end points of a diameter.
4, If the length of the tangent from (5, 4) to the circle x* + y* +3ky =0 is 1, then find £.
5. Find the polar of (1, —2) with respect to the circle x* + > -10x—10y+25=0.

6. Find centre and radius of the circle 3x” +3y> —5x—6y+4=0.

7. Find power of (2, 3) w.r.t. the circle x* + > -2x+8y-23=0.

8. Find the mean deviation about the mean for the following data:

3,6,10,4,9, 10.
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11.

12.

13.

14.

15.
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16.

17.

18.

19.

Find the mean deviation about the median for the following data:

6,7,10,12, 13,4, 8, 12

sec’ x

Evaluate Im

dx on IC]R—{I’UZ—%II’IGZ}.
X

1+x* dx

Evaluate J.

cos(log x) dr

Evaluate I ;

4
Evaluate I (x+e™)dx
0

2
Evaluate ﬂl - x| dx
0

Form the differential equation of the family of curves y = ae’ +be**, where a and b

are parameters.

Section - B
Long Answer Type Questions.
(i) Attempt ANY THREE questions.

(ii) Each question carries fifteen marks.

2x* +3x+4

m into partial fractions.

a) Resolve

3
X

b) Resolve (r—a)(x—b)(x—0) into partial fractions.

a) If (2,1), (0,1), (4,5) and (0,C) are concyclic, then find C.

b) Find the coordinates of the vertex, focus, the equation of the

directrix and the axis of the parabola )* +4x+4y-3=0.

a) Find the equation of the circle passing through the points
(19_6)7 (572)9 (790)

b) Find the equations of the circle passing through (0,0) and making

intercepts 4, 3 on x-axis, y-axis respectively.

9cosx—sinx

3) Evaluate I 4sinx+5cosx dx

3x15=45
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(7)
(8)

(7)
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20.

21.

b)

b)

b)

T
2 .
asinx+bcosx
Evaluate I - dx
o sinx-+cosx

sin xcos x

dx
Evaluate I cos’x+3cosx+2

Solve the differential equation :

L =tan’(x+ y)
dx

dx

———dx
Evaluate I cos” x +sin 2x

7 dx

Evaluate | —(——
;[ 4+5cosx
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(8)

(7)
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